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RECAPITULATION

1.Division algorithm for polynomials.

p(x) and g(x) are any two polynomials with g(x) # 0, then we can find
polynomials q(x) and r(x) such that p(x) = g(x) x q(x) + r(x), where r(x) = 0 or
degree of r(x) < degree of g(x)..This result is known as division algorithm for
polynomials.
2. Every linear polynomial in one variable has aunique zero, a non-zero constant
polynomialhas no zero, and every real number is a zero ofthe zero polynomial
3 A quadratic polynomial can have at most 2 zeroes and a cubic polynomial can
have atmost 3 zeroes
4. General form of linear polynomials ax + b where a + 0
5. General from of quadratic polynomials ax? + bx + ¢ where a#0

1. sum of zeroes =- (Coefficient of x )/ Coefficient of x? =-b/a UDM

2. product of zeroes = = Constant term/ Coefficient of x?=c/a
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Learning outcome

1.Students will be able to define polynomials, linear, quadratic & cubic
polynomials,

2.Students will be able to express polynomials in general form.

3.Students will be able to know the zero of a polynomial.

4.Students will be able to know the geometrical meaning of the zeroesof a
polynomial.

5.Students will be able to know the relationship between zeroes and
coefficients of a quadratic polynomial

6.Students will be able to know Division algorithm for polynomials
7.. Students will be able to establish relationship among
dividend,divisior,quotient and the remainder.

8. .Students will be able to find the remaining zeroes of a polynomial when UDM%

some of its zeroes are given. EDUCATIONAL GROUP
“hanging your Tomorrow Ml

e——



e Division algorithm for polynomials

https://youtu.be/vs2GYsMn9vw (3.22)
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Quick revision of polynomial
https://youtu.be/YmDnGcol-gs (10.06)
Previous years questions
https://youtu.be/F140P_dJbmo (12.02)
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Divide the polynomial p(x) by the polynomial g(x) and find the
quotient and remainder in the following : P(x) P(x) =x3 —3x? +
5x—3, g(x)=x2% -2
(i) Here p(x) = x* — 3x% + 5x — 3: alx)=x" -2
dividing p(x) by g(x)
x—3

x2—2) 1'3—3.1’3+5x—3
x3 T 2x

“3x%+Tx-3
P
_:3.\'" j‘ 6

Tx-9
| Quotient = x — 3, Remainder = 7x - 9 UDM,“
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R ;1,'[5 ate the two zeroes of the polynomial 3" -4x+1, find a quadratic

2
, o
polynomial whose zeroes are — and b .

a
1
Solution. Given f(x)=31* -4x+1 &+5=% and of=-
For the required quadratic polynomial,
; 64 lextl
2 2 3. - S TX-X
Sumofthezeroes:Ot—+B—=OL u. :((HB) 30LB(UL+B)=27 33 B0
o ap of 1 9
2 2 .
Product of the zeroes =a—_B_:qB=1=3_:E
b« 39 0
> =9 b=-28 c=3

Required polynomial =9x* 28y +3
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Sol.

If one root of the quadratic polynomial 2x*> —3x + p
is 3, find the other root. Also, find the value of p.

"* 3 is a root (zero) of p (x)

= 23’ -3 x3+p=0

= 1I8—9+p=0 = p=-9

Now px)=2x> 3x—9=2x2—6x+3x—-9
=2x(x—-3)+3 (x—3)
=(x—-3)(2x+3)

For roots of polynomial, p(x) = 0

= (x-3)(@2x+3)=0

= x=3orx =—%, Other root=—%
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Sol.

If the sum of the zeroes of the quadratic polynomial
ky* + 2y — 3k is equal to twice their product, find

the value of &. [CBSE 2014]

pOo) =k’ +2y -3k
a=k b=2, c=-3k
A.T.Q., Sum of zeroes = 2 x product of zeroes

—b c —2 —3k
— == — —— = 2 X
=> = 2><a =p A Z A
2 1
k 3
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3_13x2 + x + 2 bv a polvnomial
On dividing x° — 3x" + x y a poly Quotient = x — 2;

g(x), the quotient and remainder were x — 2 and )
—2x + 4, respectively. Find g(x). Reme.ln?d'er =-2x+4
Sol. p(x) =x*— 32+ x+2 On dividing p(x) by g(x), we have
g(x) = ? p(x) = g(x) x quotient + remainder
¥-x+1 = X*—3x%+x+2
x-2) 232 +3x-2 = g()(x —2) + (<2x + 4)
x312x2 = X =37+ x+2+2x -4 =g(x) x (x — 2)
21302 = =343 -2 =g(0) (x - 2)
— X — 3 2.2 _
_xz +2x = g(x) X 3x“+3x -2
b x—2
%=2 S8 =X —x+ 1.
x—2
-+

_0
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